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Scilab[4|0 0000000000000 INRIADDODOUOOOOUOOOOOODDODODOOODOOOO
O0C/C++, Fortran 000 0000000000000 OODOO0OOOOOOOO LAPACKOOOO
googooobogooboobooobooboboobboobooobooboboobooobooboo
0000000 MatlabOOOOOOOOOOO0O00 ScilabO0000000000000O0O0O0O Web
gooo0obooobooooo
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00000000 000ooooooo0o0o0oU000oooon (MathematicaOOOOOOOOOOO
O00000U000000o0o0oooo0o0000U0U00OUoo0oooooDooO WebOOoooooooooO
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Gulooooooooooo
GulooOo 2200000000 4000000000000000
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Scilab

GUI
BT
PUEAR:IE
T BTESAISJ(LAPACK,
ODEPACK,"**)

J\N—K™ 7 (CPU, GPU)

SciNOTES

021 ScilabOOOOOOOOO

SciNotesFEUAHHL

Scilab 5.5.2 22U~

Lead help
Toes "heln anifun_overvien” for auick start,

0.2-0" EA-KRIEIS—hEivEL:

b= 4.00000000000000000e+00
ash=

7
a - b = -1.00000000000000000e+00
Dexec( Cr¥Userstthkouvatlocument s¥math¥ | i rear¥input .sce’, <10

A%
h > ¢

(AT AT | ERER B

1. IPANT5HY 2. v/l

022 ScilabOOOOOOWindowsOd GUIOODOO

0)ooooooo
2. 00000000Scilab00000000000000O0OCODOOOOOOOOOOOOOOOO

gooogobod
3. 0000000000000 ScilabOOoO0O
4. 000000000000 DO0O0OO0O0OODO ScilabOOODOODODOODOOODDOOODOOOOOO

gbobooboogooogn

000000000 ScilabOO0OO0OO0D0DO0OO0O0O0OO0OO0OO0O0O0O0OD0O0O0O0O0OOOScilabOoOOOO
ggo
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e 0000 OIIDODODDODODOODOO1IOOOOODODO
e ScilabODDODODOOOOODO (SciNotes) DD O00ODODOOOODOOOODOOODODOOOOO
OScilabO0DO0O0O0)00000O0O00OODOOOO

00000000000000000000000000000000000 ScilabODOOO0OO
SciNotes OO DO OO0O0OODOOOODOOOOOOOOODDOOOOOOOOOODODOOOOOOOO

ScilabOODOODODOOOOOOODOODOOO IEEEZ54 000 (8 Byte, 20 53bits, 1000 150)
00000000000000000000000 (variableyDOOOOO0OO0DO0O0O0O0O0O0OO0OOOOOO
000000000 DbO00b0b00o0b0b0o0o0b0o0oboDbOoObvecO vecOOODOoooooooooO

-—>Vec = 3 c0O00O0O0OOOO
Vec = « 0O0O VecO

—

3. -~ 300000000000

-->vec = 2 0000000

vec =

000000000 cdear0 00000000000 0O0O0OO0OOOO

-->Vec ~ b VvVecOlOOooooobuooobDUOO

Vec =

-->clear Vec « 00O VecOOO

-->Vec
l-—-error 4

goooobogobdgd: Vec -« U0 VecOOOODOODODOODOO
gboooobooobooboboobboobboooboo;b0bbooobo

->Vec =3 - OO VecO 300000O0OO0DOO0ODO VecOOODOO

Vec =

-->Vec; - VecOOOOOOOO
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-->Vec ~ VecOOOOO

Vec =

gobogoobogoobooboboooboooboobbooboooboooboobboooboon
gboooobogobooboboooboobboobboobooobuoobbooboooboobo

-->Vec + vec « Vecd vecOO

ans =

-->Vec - vec « Vecl vecODO

ans =

--—>Vec * vec « VecO vecOO

ans =

-->Vec / vec « VecO vecOO

ans =

1.5
ScilabOOOOO (xY)OOOOOOOOOOOOOO V2O

-->2"(1/2)

ans =
1.4142136

-->27(0.5)

ans =

1.4142136
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-—>sqrt(2) -« 0O00OO0OOO0O ScilabOO
ans =
1.4142136

gooboooo
0000000000 00000000000 100000000000 0format 00000000
O00oogle0oooooooooon

-->2"(1/3) - 20000000
ans =
1.259921

-->format(20) -~ 000OO0OOOOO0O 200000

-->2"°(1/3) 0 - ODODOODOOd

ans =

1.2599210498948732 -~ O00000OOOOOOOO

2173 = 1.2599210498948731647672106072... 00000016 00000000170 00000000
0o00o000O0oooon

23 000

0000000000000 0Scilab0 00000 (00O0DO0OO0O000O0ODO0OOOO)000O0O (O
0000000)0000000000"nputsce”0 00000 ScilabOOO000O0 (1100)000
SciNotes 00D OO0 OO0OD0OO0OO0O0O0O0ODOOOOO0OODOOOOODOOOOO C++000//(0000O0O
O00)ooooooo

s [J000 0O0O0OO0OOOOOOODOOODOODOODOOODOOODOOD inputdoOOoOobOOO
Oo0o0oog”i: 000000000

1: // OO
2: a = input("alO0O0O > "); // 00000D0OO0O
3: b = input("bO00OO0 > ");

0000000 o, bO00O0OOODOOODOOOOOODOO
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0000 0O00O0OD0ODOO0OO03000000000000000 o b¥0000000O0OODOODO
000000000 \verbdisp—0000D0O00O00MOOOO0 printf 0000000000000
goo

4: (O00O)
5: // 00O
6: disp("a = "); disp(a); // 0000000000040
7: printf("b = %25.17e\n", b); // CO printf 00000

00000000 SciNotes DO OO0 O0O0O0O0DOOOOOOOOODOODOOOOmMOOOOO
O000a0300b0400000000000000000OO

allO0d >3 - 30000000000
bOOO >4 - 40000000000

b= 4.00000000000000000e+00
O00007a + b”"0”7a - b’/000000000000000O0O0O0OOO0OO0

8: (ODO)

9: /, O0DOOODO

10: disp("a + b = "); disp(a + b);

11: printf(" a - b = %25.17e\n", a - b);

24 0000000ODOOOOOODOOODOODOODO

Sclab0 0000000000000 0000000000000000000O0000000O000
O00000000000000000ScilabO0O0O00000 00000000000 0000O0O0O
0000 m©=3.141592..0 %pi0 000000 e=271828..0 %e 0 OO0

-->format (20)

-->%pi
%pi =

3.14159265358979312
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19

-->%e

%e =

2.71828182845904509

OO000o000OoOOd0O00Doo0di=vV-1000000%i00000000000

-->%i

%1 =

0o0o0o0ooooooooooooo
-=>C =3 + 2 * %i
C =
3. + 2.1
0000000000 complexOOODO
-->c = complex(3,2)
C =
3. + 2.1

goboooo

oo 21
c=2+3i,d=210000000000000

1. ic+ (3 + 2i)d
2. (V2+ V3i)ed
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25 0000000

00000000000 (list)000000000000000000000000 [ 1000000
0000000 ()00DoooooOoooDoooo

-->a = [1, 2, 3]

a =

gboooobogbboobboooboobboobboobooobuoobbooboooboobo
ooooob;,0000b0

-->a = [1; 2; 3]

a =

0000000000000 00000000000000000000 (.)ooooo

-->a = [1; 2; 3]

a =

000000000000000000 (*)OD0O0D0D0000000000000000000000
oooooboooobooon

-—>a = [1+%i; 2 + %i; 3+%i]

a =



25 0000000 21

1. + 1
2. +1
3. + 1
-->a’
ans =
1. - 1 2. -1 3. -1 ~0o0ooooooooao
-->a.’
ans =
1. + 1 2. +1 3. + 1 ~0oooa

gbbooobogobooobbuoobbooboooog
gboooobooboboobboooboobobo

3 -4
v=|2|,w=]| -3
1 -2

O00v+w,w—v, V2vOODOOODO Scilab0 00000000 ScilabO0 v vec_vOw O vec_w
goooooooood

vec_v [3; 2; 1]
vec_w = [-4; -3; -2]

gboooobooboooboobo

-->VeCc_V + vecC_Ww

ans =

-->VeC_w - vecC_V

ans =
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gooooboooboooboboobbooboooog

-->2"(1/2) * vec_v

ans =

4.2426407
2.8284271
1.4142136

good

00 2.2
l.a=[V245 V7]",b=[-7V2 -4 -5 -6]"00000000000 ScilabODOOO0O0O
Oad3a+2b
0bO (a—5b) + 4b
000000000 Scilab0 00000000 “prob2.2.sce”’01 000000000
2.c=[2+3i2-3i]",d=[2i -3i|"eC?000000000000
Oa0ic+ (3 +2i)d
ObO (V2 + V3i)ed®

26 000O0ODODOO

O000000000000000000000000000000000000000000000
000000000000000000000 A, BeR¥>Q

-1 -2 -3 -9 -8 -7
A=| -4 -5 -6 |,B=| -6 -5 -4
-7 -8 -9 -3 -2 -1

0000000000 mwat_a,mat_ bO0O0O0O0O00OOO0DOOOO

mat_a = [-1, -2, -3; -4, -5, -6; -7, -8, -9];

mat_b (-9, -8, -7; -6, -5, -4; -3, -2, -11;

good
000000000oooo0o0ooO0000ooDoo0o0Od A+B,A-B,ABOODOOOOOOOOO

mat_a + mat_b
mat_a - mat_b

mat_a * mat_b

gooo0oboooboooooo
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mat_a * vec_v

mat_b * vec_w

doooogoo
00 2.3
A BeR¥™ [
301 2 9 4 2 -7 3
2 3 2 7 2 8 -2 -9
A=l g 4 5 —2|'B=| 0 4 2 2
2 3 -4 0 13 2 0

gboooobogooboooboo

1. 3A + 2B
2. A2
3. —3A2 + V4B

27 000000OO0ODOODODOOODOO

O00ScilabO0ODO0ODO00O0D0O0O0OOODOOODUO0OO0OODOOOOOUOOOOOOOOOOOOOOO
gobbooogbboooobbboooobboooobobbuoooobboooobbbouoon
goooooooboboboboboobbbbbbobboooooooooooooooboboboobobobbbobo
000000000C/C++00000do0O,whileO,for00 300000000000000000
Ofor0000000D0O00O0O0

for0000000O0O

for 00=000:(000C:H0O0O0
oo

end;

O00d0oo0oOoOdOood0 l1odobooobooooooooo
O00O0v=[-1-2-3-4-5"TeRRO000OO00O000 veevdOOOOOODOOOOOO
gboooobod

vecv = [] // 00000 COOO)
for i = 1:5

vec_v(i) = -i;
end;

disp("vec_v = "); disp(vec_v); // vec_vO OO

0000000 for0000000000D00000O0O00O0O00O0O0000 AeR™DO
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-1 -2 -n
2 =3 - —(n+1)
A=[-(+))-1] : .

n

ij=1 : :
-n —-(mn+1) -~ —-2n-1)

O000O0oU0boOodOn=50000000000000DOO

mat_a = []; // 00000 (ODO)
n=>5; // 000
for i = 1:n
for j = 1l:n
mat_a(i, j) = -G + j - 1);
end;
end;

disp("mat_a = "); disp(mat_a); // mat_alO OO

0000000 BeR™OOO

n n-1 - 1
n-1 n-1 --- 1

B= : : = [n—max(i,j)+1]§f].:1
1 1 1

goooobogooog

n=25;//500000
b = [1;
for i = 1:n
for j = 1:n
b(i, j) = n - max(di, j) + 1;
end;
end;
disp("b = ");
disp(b);

goobogoooo
000000 invOOOOOO0ODOOODOO

disp("b"(-1) = ")
b_inv = inv(b);
disp(inv(b));

O0000BB'=1,00000000000000000000



27 00DOOOOOOODOOOOOOOO 25

disp("b * b"(-1) = ");
disp(b * b_inv);

goooooooooobobobobobobobobobobbbbbbbbbbbbbb00000gugg eye
gbobogboogbod

disp("|| I - B * B (-1) [[_2=")
disp(norm(eye(n,n) - b * b_inv))

Ood 24
0000000 HeR™ 0O

1 1/2 1/n

1/2 1/3 e 1/(n+ 1)
H=[/G+j- D =] L

1/n 1/(n+1) --- 1/2n-1)

0000000 e NOOOO nOOOOOOOOOOOOODOOOOOO “hilbert.sce”0 000
n=3,450000000000000000



